U5 Day 3 End Behavior per8-9.notebook

Day 2 Group HW Key Join my G.Classrm: uj27d9

2. (x=3)x*2)0x-20x+1) Do the warmup problem.

4. (x + 3)(x - 3)(X* +x +2)

6. (X2+2)(X*+4)(x+2)(x-2)

8. 7
10. h=-2,k=5
11. h=4,k=-2

Nov 5-8:58 PM

Factor each of the following completely.
Hint: you may need to use substitution to make the question look more familiar.
Finish for HW any problems you did not complete in class.

1. (& +3xP-2(x+3x)-8 2. (¢ -x\-80F -x)+ 12
Let us (¢*+3:) Let u= (x*-x)
w-2u-2 U-8U+12
(U-t)(u+2) (U-6)un-2)
(x*+3x-4)(%*+3%+2) ((ox-b)XX=X=2)
= (X4 D)X= (XADXH) - (=3 H2)(x=2)OH 1)

Oct 31-7:43 PM

November 06, 2019
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A il 4 X -7X 184X -9
(X2-5Yx%2)+ Ux(X*+2) (X% AYx+2)+ X(X* q)
(P D(PH4x=5) - (AN X+ 2)
~—( X 2)(X+S)(X= 1 = (x4 )X=-3)(X X+ 2)
Oct 31-7:44 PM
5, x'+2x'-8x-16 6. 3 +2x' - 16x - 32
= XS(X'*Z)—B(X"'Z) _ q(Xz“Z\‘Ib(XZ"'Z)
= (x+2)(x*-38) = (X242)(X*16)
= (x+2)(X-2)X*H2X+4) - (X2 (KH4)C-4)
Asige - (¥H DO (F(K-2)
& § = (-2)0E2x+4)
=X
b=2

Oct 31-7:44 PM



U5 Day 3 End Behavior per8-9.notebook

November 06, 2019

8. If(2x'+bx-10)(x+5)=2x" +17x + 25x - 50 is true for all values of x, what is b?
W(2X4 bY -10)+ 5(2X*bx=10) = 2X*+17X°+25X=50

Tx3) by% | OX +1 0K ShXA5D72X (7x1425><(j5/§

X3 50 %2 -+
Y10 A 05y SoxX = (17XFF25 X
X0 X JOXANDOX

by>+5bX = 7x*+35X

= 7x* | Sbxs35X
b=7 b ‘[7
Oct 31-7:44 PM

9. If(2x+3)(4x*-5x+6)=ax’+bx’+cx+d, what is the value of 2b + ¢?

IX (4X%=5%+0) + 3(IX=5%+b)
QX LIOXH2X 12X *15X+I§

OX 22X 3X+ (€ Ib+c=2A2)* [3)
=% ¢c=-3 =
b=2 d=I%

Oct 31-7:45 PM
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10. Frem Alg2CC Regents January 2017
Algebraically determine the values of h and k te correctly complete the identity stated
below:

2% - 107 + 11x - 7 = (x - 4)(2x° + hx + 3) + k
X2 OX 3 )[X~-7 = x(2X*+ hXx+3)- L}(z><1+hx—+3)+/»<
WEJOXZH [X=7 = 2K #hx=3X-8K=Hhx-(2+K
-2%* -2%

< JOX+ %= =w2-ng¢%ﬁ

SJOXE hxx X% IIX=-4h3x  —77-(24K
~7%X>=hx* ¥X = 4hx 5=K
-7 ___h -2 =h

Oct 31-7:45 PM

11. similar question
Algebraically determine the values of h and k to correctly complete the identity stated
below:
3x -2x%° - 13x+B8=(x-2)3x"+hx-B)+k
Ay 2 X% 3%+ §= X (3K hx-5) -2(3+hx-5)+ K
E 2N 13X+ F= 3X9 hx* 5X - bX*- Zh X HOPK
_IX%= thx=0X® -13X=-5X-2hx  §=[0+K
2 - == -7 =
gy *=hx §X=2hX 2=K
d<h 4 =h

Oct 31-7:46 PM
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N\

N

Oct 25-7:54 PM

Warm-Up: Factor completely.

X" -4x° - x°+ 4
(39 - 1= Y)
(-1 (x>- 1)
(xer)(x-3) (=) O+ 4+ )

Oct 25-7:53 PM
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The degree (highest power) and leadi effici R
(coefficient of the highest power) of a X3y =x* +¢
polynomial determine the end behavior for tha polyn&mial.
< (5dd)
There are four general shapes for polynomials. lead ¢-= | _
Aern[]egree Ddd@ @ "
"&9/‘\; Eé SRR L>Q\rbv'»‘/”‘”"*/)
(‘.' ES i e —L F :
“E L [ - dA _ ‘
Y ] 3 g, | +x° odd W—k
- Ty g
g% / MAA
s | ._XM —X \
Oct 25-7:56 PM

Without your calculator:

a. fafe degres

b. state the sign of the leading coefficient
c. sketch (no graph paper) the end behavior

1. P(x) :@— 3x° + 4x + 7 2. P(x) :+ 2x -1

a. deg=> (s4d) a. Qegf? (Bren)

b, lead ¢. = T b. lead .= —

odd
c. TX (\j\ c. m

Oct 25-7:58 PM
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3. P(x) —+ 2x° - 3x 4. P(x) :@+ 2x° - 4x - 5

a. c\ecci:S (>dd) a. éﬂ%'—“/ W’\)

b. lead ¢.=— b. le«d C-:+

dd

Oct 25-7:59 PM

So, what if our polynomial is in_ factored form?
How would we find the degree and leading coefficient?

LAl he pouse £ X Cadd eypieas) and
coo 14 4 6 o ofgusns & X s rgakee,

Oct 25-8:01 PM



U5 Day 3 End Behavior per8-9.notebook

November 06, 2019

—X ¢ X X =% X.x"nx:x"
1. P(x) = -x(x + 2)(x - 3) 2. P(x) = -x(x - 1)°(2x + 3)
a. 32;&3 (bdd) a. 40?: ¢ (oren)
b. 1¢ad teef= — b. tend deef= —
_xaAA.
C. % C. ‘[\/\,

b= S

lead ¢. =+

a.

b.

.

3.P(x) = x*(x + 2)(x -

1) 4.P(x)=(x-2)(x+1)

O X= 2 \x= -l
q. &eg,s
b Jed e >+

e.

Oct 25-8:02 PM



U5 Day 3 End Behavior per8-9.notebook November 06, 2019

What else do we get from a polynomial in factored form?

> ews or (0S80 x-intoegls

Could we get a better sketch of our polynomial
from factored form? How? USe +lo 2wsS

o ghetch whoe Yhe noph Aosse S ke
XS,

Oct 25-8:03 PM

Fo% W{\MA’ =N

How would you sketch y = (x + 1)(x - 2)

X=-I K= 2~

How about y = (x + 1)2 =0 () x)=0
X= — | X: ’(\ K’;’/

—(

Oct 25-8:05 PM
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><7—)((0+ X

Nov 5-9:28 PM
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